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QUESTION 1

Which two Veritas Storage Foundation 6.1 for UNIX commands are used to prevent and allow multipathing of Veritas
Volume Manager (VxVM) devices? (Select two.)

A. vxdiskadm
B. vxddladm
C. fsvoladm
D. vxdmpadm
E. vxsfadm

Correct Answer: AD

QUESTION 2

Output from vxprint -g diskgroup -htr shows a plex with a state of NODEVICE. What does this indicate?
A. The private region is accessible.

B. The private region is inaccessible.

C. The disk media is in a FAILING state.

D. The subdisks are relocated.

Correct Answer: B

QUESTION 3

Which three are true regarding the WPremium\\' and \\'Basic\\' dictionaries that ship with the product? (Select three.)
A. Both dictionaries ship with pre-populated terms.

B. Administrators can delete predefined terms in a Premium dictionary.

C. Basic dictionary includes a list of racially insensitive terms.

D. The dictionaries are case insensitive.

Correct Answer: ACD

QUESTION 4

The following steps for migrating an application from system S1 to S2 have been completed on S1: unmount the file
system stop the volume deport disk group How is the migration completed?
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A. (on S2) rescan; import disk group; start volume; mount file system; start application

B. (on S2) rescan; import disk group with -n option; start volume; mount file system; start application
C. (on S2) import disk group with -h option; start volume; mount file system; start application

D. (on S2) import disk group with -startall option; mount file system; start application

Correct Answer: A

QUESTION 5

Given the following command: vxassist -g datadg make datavol layout=raid5 ncol=3 How many disks are needed to
construct the data vol volume?

A2
B.3
C.4
D.5

Correct Answer: C

QUESTION 6

Which command configures a disk for use by Veritas Storage Foundation 6.1 for UNIX?
A. vxdiskconfig

B. vxdisksetup

C. vxdg

D. vxdmpadm

Correct Answer: B

QUESTION 7

What are the advantages of using a logical point-in-time copy (PITC)? (Choose two.)
A. The PITC is initially a complete copy of the primary data.

B. The PITC is available for use instantaneously.

C. Potentially, less storage space is required.

D. The storage space required is the same regardless of volume size.
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E. The PITC can be split into a separate volume.

Correct Answer: BC

QUESTION 8

Which command changes the volume read policy to force Volume Manager to read from each plex of the datavol
mirrored volume in the datadg disk group?

A. vxedit -g datadg set rdpol=round datavol

B. vxvol -g datadg rdpol roundrobin datavol

C. vxedit -g datadg set rdpol=roundrobin datavol
D. vxvol -g datadg rdpol round datavol

Correct Answer: D

QUESTION 9

Given the following command using 72g LUNSs: vxassist -g datadg make datavol 72g layout=raid5 ncol=3 How many
LUNSs are required to construct the datavol volume?

A. 3
B.4
C.5
D.6

Correct Answer: B

QUESTION 10

Which two commands are used for thin reclamation? (Select two.)
A. fsadm

B. vxdctl

C. vxdisk

D. vxtune

E. fsmap

Correct Answer: AC
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QUESTION 11

Refer to the exhibit.

v appvol - ENABLED ACTIVE 2097152 SELECT appvol-04 fTsgen
pl appvol-04 appvol ENABLED ACTIVE 2097408 STRIPE 3/128 RW

sv appvol-501 appvol -04 appvol-L81 1 6599136 0/0 2/3 ENA
v2 appvol-Lel - ENABLED ACTIVE 599136 SELECT - fsgen
p2 appvol-POl appvol-Lel DISABLED IOFAIL 699136 CONCAT - RwW

s2 appdgfz-01 appvol-Pel appdgf2 766976 699136 0] emcd dd8 ENA
p2 appvol-Poz2 appvol-Lol ENABLED ACTIVE 599136 CONCAT = Rw

s2 appdg@4-02 appvol-PO2 appdged4 @ 699136 7} emcd dl® ENA
p2 appvol-P@3 appvol-LOl ENABLED ACTIVE 699136 CONCAT - RW

s2 appdge7-02 appvol-Pe3 appdge7 @ 699136 B 3pardata® 50 ENA
sv appvol-502 appvol-04 appvol-Le2 1 699136 1/0 2/3 ENA
v2 appvol-Le2 - ENABLED ACTIVE 699136 SELECT - Tsgen
p2 appvol-Po4 appvol-Lez ENABLED ACTIVE 699136 CONCAT - RW

s2 appdg@z-02 appvol-Pe4 appdgfz @ 699136 B emcd dd8 ENA
p2 appvol-P@5 appvol-L@2 ENABLED ACTIVE 599136 CONCAT - Rw

s2 appdgf5-02 appvol-Pes appdgds @ 699136 2} emcd dll ENA
p2 appvol-PO6 appvol-Le2 DISABLED NODEVICE 699136 CONCAT - Rw

s2 appdg@B8-02 appvol-Po6 appdgea @ 699136 0] - NDEV
sv appvol-503 appvol-04 appvol-Le3 1 6599136 2/0 2/3 ENA
v2 appvol-LO3 - ENABLED ACTIVE 699136 SELECT - fsgen
p2 appvol-Po7 appvol-Le3 ENABLED ACTIVE 699136 CONCAT - RW

s2 appdge3-02 appvol-Pe7 appdge3 @ 699136 B emcd dd9 ENA
p2 appvol-Pos appvol-Le3 DISABLED NODEVICE 699136 CONCAT - RW

s2 appdgf6-02 appvol-Pes8 appdgdé @ 699136 8 - NDEV
p2 appvol-PG9 appvol-L@3 ENABLED ACTIVE 699136 CONCAT - RW

s2 appdg@9-02 appvol-Pe9 appdgf2 @ 699136 0] 3pardata® 52 ENA
dc appvol dco appvol appvol _dcl

v appvol dcl - ENABLED ACTIVE 67840 SELECT - gen
pl appvol dcl-01 appvol dcl DISABLED NODEVICE 67840 CONCAT - RW

sd appdg@l-03 appvol dcl-01 appdg@l 699136 67840 7] - MNDEV
pl appvol dcl-02 appvol dcl ENABLED ACTIVE 67840 COMCAT = RW

sd appdgez2-83 appvol dcl-02 appdg@2 699136 67840 7} emc® dd8 ENA

The appvol volume contains a Veritas File System (VxFS) file system and is mounted to /app. The volume has
experienced multiple disk failures.

What is the state of the data on the mounted file system?

A. unavailable

B. corrupted

C. partially available

D. fully accessible

Correct Answer: D

QUESTION 12
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Which Veritas File System (VXFS) I/O error policy will place the file system into a degraded state upon a metadata write
failure?

A. nodisable
B. wdisable
C. mwdisable
D. mdisable

Correct Answer: A

QUESTION 13

Which Veritas Volume Manager command can be used to explicitly report the maximum volume size that can be
created using a single Volume Manager disk?

A. vxassist
B. vxstat
C. vxtrace
D. vxprint

Correct Answer: A

QUESTION 14

A user without administration privileges reaches the quota limit and is unable to create new files. Which two actions can
the user perform to continue creating new files? (Select two.)

A. Compress files using vxcompress
B. Remove files

C. Deduplicate the file system

D. Resize the file system

E. Raise the quota limits

Correct Answer: AB

QUESTION 15
Which three settings impact the size and performance of the Symantec Mail Security 8300 database?

(Select three.)

VCS-255 VCE Dumps | VCS-255 Practice Test | VCS-255 Study Guide 6/7


https://www.passapply.com/vcs-255.html
https://www.passapply.com/vcs-255.html
https://www.passapply.com/vcs-255.html

VCE & PDF https://www.passapply.com/vcs-255.html
2024 Latest passapply VCS-255 PDF and VCE dumps Download
PassApply.com

A. report retention

B. log levels

C. quarantine retention

D. compliance incident size

Correct Answer: ABC
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